
MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

Locate each number on a number line.
1) -4, -2, 0, 2 1)

A) B)

C) D)

2) -
7
9

, -6, 5
8

, -3 2)

A) B)

C) D)

Use <, >, or = to make a true sentence.
3) -1 -9 3)

A) < B) = C) >

4) -8 3 4)
A) < B) > C) =

5) -6 -2 5)
A) < B) > C) =

Find the  absolute value.
6) -18 6)

A) 18 B) 0 C) ± 18 D) -18

7) -11 7)
A) 11 B) ± 11 C) -11 D) 0
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Perform the indicated operation.
8) 1 + (-4) + (-24) 8)

A) 21 B) 29 C) -27 D) -19

9) 11 + (-48) - 11 - (-53) + (-77) 9)
A) -24 B) -178 C) 82 D) -72

Solve the problem.
10) Your bank account has $82 in it when you write checks for $54, $35, and $15. You then deposit $35

and $42. How much is in the account? Are you overdrawn?
10)

A) $109, no B) $70, no C) $55, no D) -$109, yes

Evaluate the expression.

11) 53 11)
A) 243 B) 125 C) 64 D) 15

12) -
3

216 12)
A) 6 B) -216 C) 36 D) -6

13) ( 49)(23) 13)
A) 42 B) 2744 C) 56 D) 27

Simplify.

14) 54 - 4(21 - 13)
(2 + 6)2 - 2(37 - 6)

14)

A) -13 B) 11 C) -22 D) -8

15) 440 ÷ 11 - (5 + 1) 15)
A) 35 B) 88 C) 36 D) 34

Express the number in standard notation.
16) 5.41 × 10-4 16)

A) -541,000 B) 0.00541 C) 0.0000541 D) 0.000541

Solve the problem.
17) A squirrel is moving at a speed of 16 feet per second. At this rate, how long would it take the

squirrel to travel one mile? Give your answer in minutes, to the nearest tenth.
17)

A) 5.5 min B) 330.0 min C) 0.1 min D) 6.1 min

Determine the required formula.
18) The number of nails N in a shipment if there are n boxes of nails and each box contains 28 nails. 18)

A) N = 28n + 28 B) N = n + 28 C) N = 28n D) N =
n
28
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Solve the problem.
37) Semicircles are placed on the sides of an equilateral triangle with sides 7.8 ft as shown.  Find the

shaded area.
37)

A) 50.2 ft2 B) 170 ft2 C) 98.0 ft2 D) 86.9 ft2

38) A washer has an inner radius of 0.17 in. and an outer radius of 0.48 in. Find the area of the washer. 38)

A) 0.72 in.2 B) 0.062 in.2 C) 0.63 in.2 D) 0.81 in.2

Find the volume.

39) A cone with height 5 in. and radius 6 in. 39)
A) 60 in.3 B) 200 in.3 C) 300 in.3 D) 400 in.3

40) A sphere with diameter 5.5 ft 40)
A) 32 ft3 B) 49 ft3 C) 87 ft3 D) 700 ft3

Solve by the substitution method.
41) x - 4y = 6

x = 5y
41)

A) x = 0, y = 0 B) x = -30, y = -6 C) x = 6, y = 30 D) x = 30, y = 6

Solve the system of equations by the addition-subtraction method.
42)  6x + 6y = -24

 2x + 4y = -22
42)

A) x = 3, y = -6 B) x = 3, y = -7 C) x = 2, y = -6 D) Inconsistent

43) x + 2y = 22
 9x + 1y = 45

43)

A) x = 3, y = 10 B) x = -4, y = 10 C) x = 4, y = 9 D) Inconsistent

44) 3x
2

-
y
3

= -18

3x
4

+
2y
9

= -9

44)

A) x = -12, y = 0 B) x = 0, y = -12 C) x = 0, y = 12 D) x = 12, y = 0
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Solve the system of equations by determinants.
45) 0.1x + 0.3y = -1

     x - 0.6y = 0.8
45)

A) x = -0.1, y = -0.3 B) x = -3, y = -1
C) x = -1, y = -3 D) Inconsistent

Factor the given expression by determining any common monomial factors that may exist.
46) 4a - 24ab 46)

A) 4a(1 - 6b) B) 4(a + 6b) C) 6a(1 - 4b) D) 4(a - 24b)

Factor by grouping.
47) 20x2 - 15x + 24x - 18 47)

A) (20x - 6)(x + 3) B) (20x + 6)(x - 3) C) (5x - 6)(4x + 3) D) (5x + 6)(4x - 3)

Determine whether or not the expression has been factored completely.
48) 4x2 - 16x = 4(x - 4) 48)

A) Yes B) No; 4(x2 - 4x) C) No; 4x2(4 - x) D) No; 4x(x - 4)

Determine whether or not the expression is prime.
49) x2 + 24x 49)

A) No B) Yes

Factor the given trinomial, when possible.
50) x2 + x - 30 50)

A) Prime B) (x + 1)(x - 30) C) (x - 6)(x + 5) D) (x - 5)(x + 6)

51) x2 - x - 54 51)
A) (x + 6)(x - 9) B) (x - 54)(x + 1) C) (x - 6)(x + 9) D) Prime

Factor the trinomial.
52) x2 + 40x + 400 52)

A) (x + 20)(x - 20) B) (x - 20)2 C) (x + 20)2 D) Prime

Factor the given expression completely.
53) 25y4 - 9 53)

A) (25y2 + 1)(y2 - 9) B) (5y2 + 3)2

C) (5y2 + 3)(5y2 - 3) D) (5y2 - 3)2

Factor completely.
54) x3 - 1000 54)

A) (x - 10)(x2 + 100) B) (x - 10)(x2 + 10x + 100)
C) (x + 1000)(x2 - 1) D) (x + 10)(x2 - 10x + 100)

55) t3 + 1000 55)
A) (t - 10)(t2 + 10t + 100) B) (t + 10)(t2 + 100)
C) (t + 10)(t2 - 10t + 100) D) (t - 1000)(t2 - 1)
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Reduce the fraction to simplest form.

56)  6 k3
 3 k

56)

A) 2 k2 B) 2 k C) 3 D) 3 k2

Multiply and simplify.

57) 2z3

4
× 28

z2 57)

A) 14z B) 14z2

z3 C) z
 14 D)  14

z

58) k2 + 10k + 16
k2 + 14k + 48

× k2 + 6k
k2 + 5k + 6

58)

A) 1
k + 3 B) k

k2 + 14k + 48
C) k

k + 3 D) k2 + 6k
k + 3

Simplify the expression.

59) 2
x

4
59)

A) 16
x B) 2

x4 C) 16x4 D) 16
x4

Divide and simplify.

60) 2z3
4

÷ z2
12

60)

A) z
6 B) 6

z C) 6z D) 6z2

z3

61) z2 +  6z +  8
z2 +  8z + 16

÷ z2 + 2z
z2 + 10z + 24

61)

A) z
z2 + 8z + 16

B) z + 6
z C) z + 6

z2 + 4z
D) z + 6

Perform the indicated operation and simplify.

62) 9
5x + 15

+
1

20x - 40 62)

A) 37x - 69
20(x + 3)(x - 2) B) 35x - 75

20(x + 3)(x - 2) C) 37x - 69
(5x + 3)(4x - 2) D) -35x + 75

(5x + 3)(4x - 2)
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Perform the indicated operation. Simplify, if possible.

63) b
b2 - 25

+
5

b + 5
-

6
b 63)

A) 6b2 - 25b + 150
b(b + 5)(b - 5)

B) 25(b + 6)
b(b + 5)(b - 5)

C) 25(b - 6)
(b + 5)(b - 5) D) -25(b - 6)

b(b + 5)(b - 5)

Solve the equation.

64) 3
y

=
y

6 y - 15 64)

A) - 3 ,- 15 B) 3 , 15 C) - 3 , 15 D) 3 ,- 15

Solve the equation for the indicated variable.

65) 1
S

+
1
S'

=
2
R

  for S (mirror equation) 65)

A) S =
R - 2S'

2 B) S =
S'R

2S' - R C) S =
S'R

S' - 2R D) S =
S'R

R - 2S'

Express the given expression in simplest form with only positive exponents.
66) 510· 5-3 66)

A) 54 B) 510 C) 57 D) 53

67) x · x-8 67)

A) x7 B) 1
x9 C) 1

x7 D) x9

68) 99m · 9-4m
9-8m

68)

A) 913m B) 9-3m C) m
913 D) m

9-3

69) (a-1)-7 69)

A) 1
a6 B) 1

a7 C) a7 D) a6

Evaluate the given expression.
70) 161/2 70)

A) 1
4 B) 1

8 C) 8 D) 4

Perform the indicated operation.
71) (6j)2 71)

A) -36 B) 36j C) -6 D) 36
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Express the radical in simplest form. If a radical appears in the denominator, rationalize the denominator.
72) 126 72)

A) 11 B) 3 14 C) 14 3 D) 42

Perform the indicated operations, express the radical in simplest form.
73) -6 5 - 7 5 73)

A) -13 5 B) 1 5 C) 42 10 D) -13 10

74) ( 13 + 1)( 13 - 1) 74)
A) 12 - 2 13 B) 12 + 2 13 C) 14 D) 12

Solve the quadratic equation by factoring.
75) 64k2 - 25 = 0 75)

A) 5, 0 B) 5
8

, -
5
8 C) 8

5
, -

8
5 D) 8

5
, 0

Solve.

76) x2 + x + 4 = 0 76)

A) -1 ± j 15
2

B) 1 ± 15
2

C) 1 ± j 15
2

D) -1 ± 15
2

Solve the problem.
77) Find the supplement of 25°. 77)

A) 65° B) 245° C) 335° D) 155°

78) Find the measure of angle x.

x y
124

78)

A) 34° B) 134° C) 124° D) 56°

79) If DAB = 51° what is the measure of BDF in the figure shown below. 79)

A) 51° B) 141° C) 90° D) 39°
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